
ivigAwn 
SRyxI dsvIN 

smW 3 GMty                ilKqI – 80 AMk 
          AWqirk mulWkx-20AMk 
          ku`l AMk-100 

pRSn p`qr dI bxqr 
 

1. pRSn p`qr ivc ku`l 19 pRSn hoxgy[swry pRSn krny jrUrI hn[ 

2. pRSn nMbr 1 dy 30 Bwg hoxgy[hryk iek̀ AMk dw hovygw[swry bhu-ivklpI pRSn hoxgy[ 

3. pRsn nMbr 2 qoN 11 qk̀ do-do AMkW vwly hoxgy[ 

4. pRsn nMbr 12 qoN 16 q`k iqMn-iqMn AMkW vwly hoxgy[ 

5. pRsn nMbr 17 qoN 19 qk̀ pMj – pMj AMkW vwly hoxgy[hr pRSn ivc̀ AMdrUnI Cot hovygI[ 

pwT nM: pwT dw nW 
1 AMk vwly 
bhuivklpI 

pRSn 
2 AMk vwly  

pRSn 
3 AMk vwly  

pRSn 
5 AMk vwly  

pRSn 

ku`l 
AMk 

1 
rswieixk ikirAwvW Aqy 
smIkrxW 1 1 1   6 

2 qyzwb Kwr Aqy lUx 2 1     4 

3 DwqW Aqy ADwqW 2 0   1 7 

4 kwrbn Aqy ausdy Xoigk 2 1     4 

5 q`qw dw vrgIkrx 2 1     4 

6 jYivk pRikirAwvW 2 0 1   5 

7 kwbU Aqy qwlmyl 2 1     4 

8 jIv pRjxn ikvyN krdy hn? 2 0   1 7 

9 AnuvMiSkqw Aqy ivkws 2 1     4 

10 
pRkwS prwvrqn Aqy 
Apvrqn 2 1     4 

11 
mnu`KI A`K Aqy rMg ibrMgw 
sMswr 2 0 1   5 

12 ibjlI 1 0   1 6 

13 ibjleI Dwrw dy pRBwv 2 0 1   5 

14 aUrjw dy somy 2 1     4 

15 swfw vwqwvrx 2 1 1   7 

16 kudrqI swDnW dw pRbMDx 2 1     4 

ku`l pRSn 30X1=30 10X2=20 5X3=15 3X5=15 80 
 


